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2o = 13,180,000 MEed = 15,131,000
2o = 1,000,000 Z2ojed = 31,766,000
2o = 10,940,000 MEed = 13,562,000
ZORMD AlROIE 5,000,000 CHE o= 24,427,000
ZORMD AlROIE 7,330,000 st A 84,886,000
RLAOIN=LSH 11,770,000
HNESH 0= 12,630,000 MNBEZES B 15,000,000
HNESH 0= 8,150,000 JERESI2 S 50,000,000
e o= 6,000,000 st A 65,000,000
e o= 2,910,000
st A 78,910,000
7IE O|8&F 7IE 0| &5
R ES 13,760,000 20/7E 3,200,000
AlSHILE 3,218,000 AlSt7E 1,260,000
ME|ZIE 2|24l 6,460,000 AN FE 4,000,000
SRS 1,670,000 SLpFLE 400,000
SHLFLE 900,000 X E= 2,000,000
EXTENS 5,500,000 SIC7HE 1,000,000
SCIFIE 1,000,000 Z0IFIE SHIAH A 800,000
SILIZIE S22 MH|A 1,200,000 ZHFIE SHSAH A 460,000
Z0IFIE S2MH A 1,640,000 ASHFLE S22 AMH|A 1,440,000
ZHFIE 2 MH A 1,880,000 APMIIE S M H|A 600,000
ANSHFLE S 2 AMH|A 2,320,000 st A 15,160,000
23|FIE SHIMHA 430,000
ME|ZIE S22 MH|A 740,000
st A 40,718,000
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